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Year 6 | Quick Maths | Spring | Week 1 | Day 1

MathShed

1l 90 + 9,000 = 6| 4.7 + 4.074 =
/1 /1
2| 333 + 5,363 = 1 = 7,800 + 700
/1 /1
3| L + 2 = 8| 9 X 49 =
11 11 /1 /1
/1 /1
o| 387 - 90 = 10 331 x 3 =
/1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 1 | Answers

MathShed

1 90 + 9,000 = 9,090 6| 4.7 + 4.074 = 8.7174
/1 /1
2| 333 + 5,363 = 5,696 /1| 8,500 = 7,800 + 700
/1 /1
3| L 42— 11 8| 9 x 49 = 441
11 11 11 /1 — /1
41 766 = 1 = /66 9/ 56 +-8= 1/
— /1 — /1
5| 387 - 90 = 297/ 10/ 331 x 3 = 993
— /1 /1
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MathShed

Year 6 | Quick Maths | Spring | Week 1 | Day 2
1l 6,788 — 7189 = 6| 30 x 70 =
/1 /1
2| A8 _ 2 _ 7| 1,100 + 11 =
100 100 /1 /1
3 - 500 = 8,399 8| 0.09 =10 =
/1 /1
4| 36 = (3 x 4) o| 3,887 x 1,000 =
/1 /1
51+£= 100 817 + 19 =
6 12 /1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 2 | Answers

MathShed

1l 6,788 - 789 = 5,999 6| 30 x 70 = 2,100
/1 /1
2| 48 24 _ 24 6 7/ 1,100 + 11 = 100
100 100 100 25 | /1 /1
3| 8,899 - 500 = 8,399 8| 0.09 + 10 = 0.008
/1 /1
3,887 x 1,000 =
4 -_— = 3 9 ’ ’
36 + (3 % 4) n 3,887,000 n
> 1-|-£— Eoreq 10 817 =19 = 43
6 12 3 /1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 3

MathShed

1 7 - 4.37 = 6| L+ 14 1_

/1 3 6 /1
2| 2,788 x 37 = 7 L7

/1 /1
3| 12 + 3 = S| =+ 4

12 7 /1 /1

4| 417 x 17 = 9| 65% of 880 =

/1 /1
S| 8/.7 — 35.653 = 10 + 2

/1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 3 | Answers

MathShed

1| 7 - 4.37 = 2.63 6| L 1, 1_°_ 4
/1 2 3 6 /1
2| 2,788 x 37 =103,156| | [7/2L . ,_ °
/1 7 7 /1
12 3 3 3 3
3 — —_— — 8 — — _ —
12 T 7 17 /1 7 4 28 /1
4| 417 x 17 = 7,089 9| 65% of 880 = 572
/1 /1
52.047
5| 87.7 — 35.653 = 0| 42 4 2 =51 or eq.
/1 4 6 /1
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Year 6 | Quick Maths | Spring [ Week 1 | Day 4

MathShed

1| 11% of 700 = 6| 2451 =« 43 =
/1 /1
2|3 _ 3 _ 7| 85% of 360 =
9 18 /1 /1
3| 0.8 x 800 = 8| 87.7 — 42.681 =
/1 /1
4| 77% of 1,000 = 9| 0.23 =+ 10 =
/1 /1
5/ 11 x 57 = 10| 3,763 + 71 =
2 /1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 4 | Answers

MathShed

1| 11% of 700 = 77 6| 2451 ~ 43 = 57
/1 /1
>3 _3 3 7| 85% of 360 = 306
9 18 18 /1 /1
45.019
3] 0.8 x 800 = 640 S| 87.7 — 42.681 =
/1 /1
4| 77% of 1,000 = 770 9/ 023 +10 = _0.023 |
/1 /
5/ 11 x 57 = 85’ 0| 3763 71 = 53
2 Z /1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 5

MathShed

1| 37% of 400 = © 2,537 + 59 =
/1 /1
7 1
2 — - = = 1| 662%/;% of 990 =
9 4 /1 /1
3| 0.8 x 700 = 8| 88.8 — 67.791 =
/1 /1
4] 81% of 1,000 = 9 0.57 = 100 =
/1 /1
D 11 X 59 = 100 4,189 = /1 =
3 /1 /1
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Year 6 | Quick Maths | Spring | Week 1 | Day 5 | Answers

MathSi*ieci

1 37% of 400 = 148 6| 2,537 + 59 =_43 1
/1 /
27 1_ 1Y 7| 662/,% of 990 = 660
9 4 36 /1 /1
21.009
3| 0.8 x 700 = 560 8| 88.8 - 67.791 =
/1 /1
4| 81% of 1,000 = 810 9| 057 + 100 = 0.0057 |
/1 /
5/ 11 x 59 = 787 10| 4189 + 71 = 59
3 3 /1 /1
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